	To get level
	You might have:

	5
	· Described two characteristics which are inherited, two which are environmental and two which are caused by both (use the key words list).

· Explained why certain characteristics are inherited and others are caused by the environment.

· Predicted and explained simply which characteristics could be similar to their parents.

	6
	· Used the Big Idea of Cells to simply explain variation.

· Included other characteristics that are inherited or caused by the environment.

· Predicted and explained which characteristics could be similar to their parents.

· Explained simply how identical twins are made.

	7
	· Used detailed knowledge and understanding to explain variation and its causes.

· Explained other characteristics that are inherited or caused by the environment.

· Predicted and explained which characteristics could be similar to their parents.

· Explained simply how identical twins are made.
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You have three weeks to complete this assessment.





Level ladder:


What is your target level? Use the level ladder to help you reach it:





Key words: ability to do magic, eye colour, hair colour, height, mass, nose shape





Task: Write a letter to Dumbledore. Explain why the Weasley twins look so alike. Make a list of characteristics that they might have that are different and explain why these differences may occur.


Start your response: Dear Dumbledore I have been doing a topic on Variation in Science at school. The reasons there are some differences between the Weasley twins are…





The Weasley twins are identical twins. Both the boys look very similar, but if you look carefully they have slight differences.


Dumbledore, although a brilliant Wizard, does not know how these differences happen.��





Y7 Level-Assessed Tasks ( Badger Publishing Ltd





7D Task Sheet (L5-7)


Why do the Weasley twins look slightly different?








